N = Ol & A

20138 =0llat Letsl A EX2eld ~ EX2el

[
2

2 Ml A

M EXlz2tel
g EXdE d85 F#3

E9l EXFHAY X (29 @2
- _ - HE
SN B SR(BH) - NRAY - BES 0f - o i HRS2

EXZel 5,080,765 5,264,053 A 183,288
= 3,572,000
s 1,508,765

EXNdY ddgt FE 5,000,965 5,184,253 183,288
= 3,572,000
< 1,428,965

ENEZHAY K& 121,922 94,027 27,895

ENEHMY =4 16,850 16,850 0

201 Zet=E | 14,000 14,000 0

01 AR 2tel] 11,000 11,000 0
OfIVE 2Y+2 S EXBRAYSL N2 11,000

02 33244l 3,000 3,000 0
OXN&EEHl =Xdl 3,000

203 B2 2,850 2,850 0

03 Al F=AH 2 =& 2,850 2,850 0
OEX BeIYREH 2,850

SAIXOH 2EE2A OXEs 85,072 77,177 7,895

308 AXIHMSOIA 85,072 77,177 7,895

01 MAEHESELS 85,072 77,177 7,895
OZAIXIt BESAH CIXES 85,072

SSAMATH 22N 2S 20,000 0 20,000

207 AN HI 20,000 0 20,000

02 & A &Y 20,000 0 20,000
ORSUAUTH BRANAY 29 20,000

DASHe XNHAHE 23 1,187,900 469, 138 718,762
= 1,000,000
= 187,900

ANESg 8N 2 EH Hd A 16,000 15,000 1,000

101 2124 8| 16,000 15,000 1,000

04 JIZtM22 s+ 16,000 15,000 1,000
ONESYBE & =0 Ty 2N 16,000

SEHIEXN N=LHMEH 96,900 96,900 0

308 XA EHMISO0I S 96,900 96,900 0

01 XM ELS 96,900 96,900 0
OBIHIEX NSAYHIUIMNY K& 96,900

K& THEAR AL 1,000,000 104,138 895,862
= 1,000,000

201 e gl 10,000 1,138 8,862
= 10,000




SH: XD
HE: XYY HWG P
o9l DAZAO NHAY P& (Sl &2)
_ _ _ Muo
SN EB -GS - MBAY - BES 01l &k o e HRE2
01 At 22| b 10,000 1,138 8,862
ONHWEA d2EZ 10,000
=2 10,000
202 018 20,000 3,000 17,000
=2 20,000
01 2U0i b 20,000 3,000 17,000
ONEWEA 25 20,000
=2 20,000
308 X+XI €M SO0l & 970,000 100,000 870,000
= 970,000
01 MHASH B LB ES 970,000 100,000 870,000
OREMEA AL EZ 970,000
= 970,000
EHUCTANA B 30,000 0 30,000
207 AR 30,000 0 30,000
NEEEET 30,000 0 30,000
OZHYUCTXRA B 30,000
GPS XIZZZFFHI(VRS) 2 45,000 0 45,000
405 X+ &HE St 45,000 0 45,000
01 LS EH S| 45,000 0 45,000
OGPS XI X =2 ZH| (VRS) 7Y 45,000
SEMFE YRS 273,000 113,680 159,320
SENSEY BESN UKL A =X 13,000 13,680 2680
201 YEr2gy| 3,000 3,000 0
02 222 3,000 3,000 0
OBEAJINY S XS &HH S 3,000
308 X+XIE+HISO0I& 10,000 10,680 680
SR EEEREES 10,000 10,680 680
ORSNSTY BE2M NS 10,000
BRENHBAIALY HAZY D 250,000 0 250,000
405 Xt aH3 St 250,000 0 250,000
01 ML SEH S| 250,000 0 250,000
OBREXNHSAIAY HAEH DA 250,000
SEANTY oMLY 2IE3 MA 10,000 0 10,000
201 YBr2g | 10,000 0 10,000
01 At 22| b 10,000 0 10,000
ORSHNLY QYRR HIZ 10,000
DAL IS 2,722,000 3,369,100 A647,100
= 2,491,000




SH: XD
HE: EXNYY LWG P
o9l BAFE JIBRE (9l & 2
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 O AF o8 il b o B2
= 231,000
T2 NGHAIES FAEAY TR 2,652,000 2,240,000 412,000
= 2,491,000
= 161,000
403 X+ X GRS XH 0] & 2,652,000 2,240,000 412,000
= 2,491,000
= 161,000
01 XU =S E 2,652,000 2,240,000 412,000
OZ29 XGHAES HASAIY 2,652,000
= 2,491,000
= 161,000
OXNEIEANAT 223 29 20,000 0 20,000
201 QBr2 | 18,000 0 18,000
01 At 22|t 18,000 0 18,000
OUXNEREANAT 237 29 18,000
202 048] 2,000 0 2,000
01 201 b 2,000 0 2,000
OLXNERENAT 252 29 OfY) 2,000
BMHABAI L RN 2 50,000 0 50,000
201 YEr2gy| 50,000 0 50,000
02 T2l 50,000 0 50,000
OSTATAFLAI AL S 22 50,000
TREEA YRS 696, 143 1,138,308 A442,165
= 81,000
= 615, 143
CREEA MES ZAAY X 250,000 380,000 £130,000
308 X+XI €M S0l & 250,000 200,000 50,000
01 RS HE LB ES 250,000 200,000 50,000
OS2YFL MBS SAANY N 250,000
ol TRY U ASHS 2OAY X 138,000 138,000 0
= 38,000
= 100,000
403 Xt SRS XH 0] & 138,000 138,000 0
= 38,000
= 100,000
01 XU =S E 138,000 138,000 0
OBHT2Y 2o (BAR) 38,000
= 38,000
OZAZ2Y 22 (ZXH) 100,000
CRYEA NHAHT &3 100,000 99,993 7
308 X+XI €+ HI S0l & 100,000 99,993 7
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